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Note: the mywp (8:8 7177) designates a date in vaw as the “new year” for trees — 7172 maintains that it is VIV2 1"V
and w”a holds that it is LY ¥
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L. xpare: making a 0’270 MW accessible to an 211y
a. 2’7 nnan nX on one side, N ’NY on the other
b.  /220m w”a requires 2 doors (one on each side); n”a require 1 door and NPy 'nY on other side
c.  Challenge: nmin "1 propsed that if you have 2 houses on facing sides of 9”17, you could make them
passable with ' on each side — and 1321 responded that you cannot be 7”7 2991
i.  And:ny v's ruling re: w911 (and X)Y’s ruling re: Riinn) — if doors weren’t locked at night,
there would be no way to avoid nxon avn for carrying there
d. Rather: the ®n>1 is addressing making a w191 nan accessible to an 21y
i. a7 follows p"n —need a”mx on one side and nMp1 MY on other side
ii.  Swmww rules like an (per n”1) — 1 door and nMpy 'nY on other side
1. Question: according to YR1nw, must door be locked at night?
2. Answer: reports that YRmw himself did not require N>
a) Including: report from ryTIM that gates couldn’t be closed yet Y8mnw carried there
b) However: 1" required that they move the dirt away from the gates
i.  Block: he doesn’t require that the gates be closed, rather able to be closed
II.  »an in ®Y7TM) was crooked (m1py Man) they attached the manin of 17 and Y®1nW and required doors on both sides
a. 37 we consider it like w5an (see p. 3)

i. However: 21 himself ruled like p"n here (only need a”my)
b.  Sxmww: ruled like n2in and required a door
i. However: 581w himself ruled that such a "an is considered oino

1. Therefore: we attach XN of 27 — considered w1an
c. Question: how can we accept both mImn — we should require consistency in poa
i. Per: »:x mn2> knaon (also in 1210 ,nTY RNavIN) N3YN follows n"a
1. However: one may follow all mamn and m5p of either w”a or n”a
2. but: one who follows the leniencies of both is considered a Y1
3. And: : one who follows the mmn of both is considered a fool (v. 1)
a) Note: Internal problem in 8n»3; 1”23 Ma%n yet allows for adherence to either school
i.  Answer#l: before/after "p-na that confirmed n"a’s status (ahead :»)
ii.  Answer #2: after 9p-n31; agree/disagree with ywin’ "2 who rejected the %1p-na
iii. Amnswer #3: when we find 2 »Rin or w®1NR disagreeing in the same fashion as
v”1/n"3, must follow one school consistently
b) Nonetheless: we have a challenge to our ruling like 27 and Y%1w here — both mmn
d. Answer (»7217): it all follows 11 — (even the requirement of a door)
i. Per: X110 "1’s report that 29 agreed with p"n but wouldn’t publicly rule that way (12 191 PR 1250)
1. Challenge: R"ar1 reported that 29 would publicly rule like p”n (32 171m naYn)
e. Answer (2arw “7): only limitation is accepting mutually exclusive rulings
i. Example: 22 m5nR - dispute n”2/v"1 as to how much of skeleton or skull is missing such that n"v is nmywa
1.  And: mwn adds that same positions hold for definition of a na»v
2. Therefore: may not rule like v”a (e.g.) re: n"yv and like n"a re: na»v
ii. Challenge: ™ once picked an »n® during 1%t two weeks of V2w and practiced both m wyn (see note)
1. Answer: " was unsure which position was v”a and which n”a - separated both xmn%
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